epd-norge.no

The Norwegian EPD Foundation

Environmental Declaration ISO 14025

1" # $ %8

HAG -

! /j %

' Cﬁ @stfoldforsknlng
% 2 ,31!'$! 11 4 5 %23
& 0 + %" 6! $
1l 17 7
> -%.!%$/ 0 / 10 0 + -%.
" /, & [ &l
)+
!
, $-) "#S !
# g %1&"T  #!
0 * +,
1&1+/ 9 "2 (E 9 ¢
-, 1/ 9 F $ &, $! 4 (( <5
/" $ ,1/ 19 ) G 6!- /1 [ [/ 11 '$
9 , 11 $*2 %. 1/
$/ & O 9 2% D8! 20
" 1 9 1 / $ !
$1n/ 9 20! /1 1 10 6!'1%$ ,1%$/ +/ 1>
10% 0! 1 1@/ 20! O!! &,
1 0 /[, ! $ 1111
= $! 9
.9 $ 9 < $ &! 9* !l <4 " 5
-> /"' 9 - @A
2/, 9 21% ! ?219B; :: (/19 1cCo

?&1

The sitting solution meets the
following minimum emissions
( requirements in the Greenguards
certification: Formaldehyde: <
0.025 ppm (< 0.03 mg/m?3)

( (Greenguard certificate).

( It has not been possible to
obtain data on the content of

( brominated flame retardents &
heavy metals. These chemicals

( have not been detected in HAGs

production.

*In % of analysed mass, input to the assembly depmnt at HAG



Recycled paper/cardboard|g/seating solution|
Recycled textiles g/seating solution
Including process & cooling water. Not

Water g/seating solution| 1194 0,018 6,6 180 1381 |including turbine water.

Biomass as a raw materiallg/seating solution| 17 2,5E-06 16E-04 4,1E-03 118

Recycled steel g/seating solution 0,75 0,75

recycled aluminium g/seating solution| 24 24

recycled copper g/seating solution|

recycled plastic g/seating solution| 0,082 0,082

Iron g/seating solution| 13 2,2, E-04 3,4E-03 4,8E-03 13

Bauxite g/seating solution 0,4 11E-07 10E-03 5,6E-04 0,4

Limestone g/seating solution 0,93 8,2,E-04 13E-02 0,035 0,98

Minerals, sand & stone  [g/seating solution| 39 2,9,E-03 7,2E-03 0,057 4,0

Copper (inore) g/seating solution 4,0E-03 12E-07 4,6E-05 3,5E-04 4,4E-03

Coal as araw material g/seating solution 3,7E-03 17E-03 84E-04 6,3E-03

Oil as a raw material g/seating solution 4,0 18E-04 8,7E-05 4,0

Natural gas, raw material [g/seating solution| 15 4,1E-06 2,0E-06 15

g/seating solution 0,40 |Water is not included in this calculation in
23% order to make it more precise.

$ 425-

?&1

Al $
mH! @
1110
m3 +&1 - ,
"1l %+
—

= ® j = &~ ml-

- - &

- -_ ©

o =

$*%

Coal f J/seating solution|
Qil N J/seating solution| 15 4.8 0,59 20
Natural gas N J/seating solution| 160 0,034 0,25 31
Peat I J/seating solution| 34 - 5,4E-05 8,4E-01
Sulphur N J/seating solution| 0,086 43E-09 1IE-05 7,9E-06
J/seating solution| 79 0,02 0,075 B7 See
Biomass I J/seating solution| 9 5,3E-04 7,2E-04 3,90 | "Treatment
Hydro power I J/seating solution| 53 0,052 42 21 of wastg
from the final
Wind power fl J/seating solution| 19 - 13E-03 0,39 product”
Solar power N J/seating solution| 4,3E-03 - 18E-05 12E-03
Geothermal energy f J/seating solution| 0,16 - - -
Waste incineration & } ; 57 . . 068
surplus heat hJ/seating solution
0,73 - 8,5E-03 7,9E-04
M J/seating solution|

20

[V

11 &! O

Y J/seating solution|

% 11/>

14>

$0 /

1&,

$ +&1 1

Including lignite

140

163

4.3

0,086

92

23

2,3

5,5E-03

0,16

-5,0

0,74

Including any use of energy
with hydrogen as the energy
carrier




kg CO2 equ./seating solutio 24
kg CFC-1lequ./seating solu 7 5E-05 18E-07
kg SO2 equ./seating solutio 0,1 7,1E-03
kg ethene equ./seating solut] 0,035 9,9E-04
kg phosphate equ./seating s 0,018 10E-03
kg Pb equ./seating solution 3,0E-04 6,6E-06
m3+/ 1! @ n
m? ! $/ !
=% NI @ !I'/&1,
mA!l 0!
. * *
;' $ $93 $$ $90 7

CO2 (fossil) p/seating solution|
CH4 b/seating solution| 0,12 2,9E-05 8,8E-05 2,6E-03 0,2
N20 b/seating solution| 6,3E-04 5,6E-04 34E-06 13E-05 6,3E-04
NOX b/seating solution| 0,055 3,7E-03 3,5E-04 4,1E-03 0,063
SOx b/seating solution| 0,066 15E-04 16E-04 4,2E-03 0,070
b/seating solution| 11E-02 7,2E-04 2,9E-05 15E-03 0,083
b/seating solution| 0,089 16E-03 9,7E-05 10E-03 0,092
Dioxin b/seating solution| 20E-11 8,8E-16 8,0E-15 2,7E-2 23E-11
Water to waste treatment b/seating solution| 72 54 0,021 B
b/seating solution| 0,083 0,067 9,4E-06 14E-04 See 0,083
b/seating solution| 2,2E-03 13E-07 8,8E-07 9,0E-06 | "Treatment 2,2E-03
N N of waste
b/seating solution| 12E-03 6,0E-09 8,9E-08 4,0E-05 from the final 12E-03
Dioxin b/seating solution| 2,9E-13 - - product” 2,9E-04
Phosphate b/seating solution| 15E-03 2,0E-08 2,8E-06 4,3E-05 16E-03
Nitrate b/seating solution| 6,3E-03 15E-07 13E-06 13E-05 6,3E-03
waste to material recycling p/seating solution| 0,50 0,52 0,018 10 |Including reuse
waste to energy recovery b/seating solution| 0,20 0,25 0,061 0,51
waste to incineration b/seating solution| 0,029 - 0,029 |Without energy recovery
waste to landfill b/seating solution| 0,86 2,2E-03 0,028 0,89
Hazardous waste 037 2,E-05 024 48E-03 0,61 |ncluding radioactive waste
p/seating solution| and slag/ashes.
Other waste 0,36 2,7E-03 4,0E-03 5,7E-03 0,37 |Unspecified waste
b/seating solution|
7% N /&1, 71 1 /s $0 ,0 !! 6!
20- /1.1 0l'& /1 &! 0% 2 ,31!4%235% 0 o
11 14 520! 1 $1$1110 E /101 , 11
+00%230% 6!1% / /& 0+ 0!$ + 11 /11,0 1
0 11% / b $ 11$0 ! 11 11 $ 0 L
/i /1 & / $ ! '+0% ! 0 1 0 $0
Lol $ - ! 0! M1,2 $ N O
$ *+-/ % I$ /& $0 ! !
+ 11 , 181/ 1 11%$0 L rtro ! /11 0
! | %82 0// + 1
"1&"1 $$ 0! 11 $& +00 0! % +! 117 1720 o?'& 'L/
/ 10 0! 1 $11
200 I ! $ 1 1% '0/ o 1 ! > 1 11,& O 200 ! 1O
0 1,& Y 1 /I 1% '$ ,1 11$01 1! A +0

<:



=

%
G 1 = 1,1
:G A @ !
G =
<% | = $11
G 1 P IH!
G -
)G 7 m 0
G
G -4
G
> <& = & R > > &
(_)\?'e &\(\\‘) o@e, X Q\'zf}'\ $0° & Soo’é A’Z;;\O\\'
\?\.o
)* o #$ )* < #$ $ $ *

1" # $%&( $

$orro /o 1 g 20! 11 0! 0 11%$/ 0 > 10/
Loriros1 & . $0$ 1 4,15 1%00 1 0% & +

+ HO 0! 11 % 11, ! 0o + +! 11/

! Lm0 01/ 1 , , 0o ! 11 0 1/ 11 1

1 %11 $0 / ' & + 1oP !
+1 0 + +!111/)6%$0/ o1 !

+01 $ $ $ *3 $ %<2-
o1 1. !
Included in Specitic data
the analysis
Specific data from database
Not included
in the analysis Combination of the above
)* <% $ = -
, $ ( #
0 $ &! $! 11 $ , * T11 /1! 1/ $! 11 0 $
/1 ! ! 1 s 11 1 * ol& !'$ 0!
$ T?0 1 s &$1/70 1/> 0
THO /o1 , M '> ¢ 0/ !0 &, $ + &1
+ 0 > 1 1 ,
THO 1/ 1 ! 0 /ot s "$ $

1/ 1 o ,1 1! 1 " ?7&1 7?7 | [ 1 0%

T-/M 1$/ 11 0 /o 1o 4/  15L
, 3
T/ 1$/ $+1 +0 , , 11 20001 1 & ! $ ! 0 !,

0 /40 0 +! 11 ! o !/ /1 $0 >1! , 0,
T 11 1+0/1 ( no 1 1&! o/ >10 0/ 1 H!I0O O
&1 10l $/ 0'& [ 1&1 %/ 1! /1 11 1 ?0 %23 ! 1 1!

$+0101& 1 0o! 0!~ ny o &!
> $/%$% (&! /!
3% !
a)( 9 < (O * 1 # *
0 9DD+++ D.I 1D2 $ % !>Q $/ * 0

R)<; 9 < O * 1 I # 222 ) *
20 + -%." 4 59 " #$ % "$& ! ! ! 0
v () * %( & ! 01 4 591%$13! 0 3 9
+ LS ' $ /1 1 14-% 58! 11 !

9 < O * * 1 # * ! 2 H +,15)74 + 5



